 1. A simple random sample of five female basketball players is selected. Their heights (in cm) are 170, 175, 170, 183, and 177. What is the standard error of the mean of these height measurements?
 A) 2.429    B) 2.837    C) 5.075     D) 5.675
 2. A simple random sample of six male patients over the age of 65 is being used in a blood pressure study. The standard error of the mean blood pressure of these six men was 22.8. What is the standard deviation of these six blood pressure measurements?
 A) 9.31     B) 50.98     C) 55.85     D) 136.8
Use the following to answer question 3.

 A simple random sample of 100 postal employees is used to test if the average time postal employees have worked for the postal service has changed from the value of 7.5 years recorded 20 years ago. The sample mean was [image: image1.wmf] = 7 years with a standard deviation of s = 2 years.  Assume the distribution of the time the employees have worked for the postal service is approximately Normal.  The hypotheses being tested are H0: m = 7.5, Ha: m 
[image: image2.wmf]7.5. A one-sample t test will be used.
 3. Suppose the mean and standard deviation obtained were based on a sample of size n = 25 postal workers rather than 100.  What do we know about the new P-value compared to the old one?
 A) It would be larger.    B) It would be smaller.
 C) It would be unchanged, because the difference between [image: image3.wmf] and the hypothesized value m = 7.5 is unchanged.
 D) It would be unchanged, because the variability measured by the standard deviation stays the same.
4. Which distribution is used when comparing one standard deviation to another?

A) normal      B) Student’s t      C) F      D) Chi-Square

5) If there appears to be a large difference in the spread of 2 populations and you would like to test Ho: m​1 = m2 vs Ha: m1 
[image: image4.wmf] m2 the adjustment in the usual “pooled” t-test involves

A) Use an F-test     B) adjust the degrees of freedom 

C) increase n so the central limit theorem applies

D) set the degrees of freedom to n1 + n2 -2

Use the following to answer question 6.

 A one-sample t test of Ho: m = 125 against Ha: m > 125 is carried out based on sample data from a Normal population.  The SRS of size n = 15 produced a mean [image: image5.wmf] = 132.8 and s = 12.6.
 6. What is the P-value of the test in this situation?
 A) P = 0.008
 B) P > 0.02
 C) 0.02 < P < 0.04
 D) 0.01 < P < 0.02
 E) 0.02 < P < 0.025
 7. A test of significance is to be carried out on Ho: m = 36 against Ha: m < 36 based on data from an SRS selected from a Normally distributed population variable.  It was decided to use a level of significance of a = 0.02 to decide whether or not to reject the null hypothesis.  The sample data produced a standard deviation of s = 15.6 based on 12 sample values.  What values of [image: image6.wmf] would lead to the rejection of Ho?
 A) [image: image7.wmf] > 46.5   B) [image: image8.wmf] < 26.7    C) [image: image9.wmf] < 25.5     D) [image: image10.wmf] > 45.3
Use the following to answer question 8.

 A 95% confidence interval for m1 – m2, based on two independent samples of sizes 8 and 11, respectively, gives us (45.6, 56.7).
 8. What would be the margin of error for a 99% confidence interval for m1 – m2?
 A) 2.63     B) 2.898     C) 5.55     D) 7.62
Use the following to answer question 9.

 You wish to compare the prices of apartments in two neighboring towns. You take a simple random sample of 12 apartments in town A and calculate the average price of these apartments. You repeat this for 15 apartments in town B. Let m1 represent the true average price of apartments in town A and m2 the average price in town B.
 9. Suppose we were to use the pooled t-test. The t statistic for comparing the mean prices is 2.1. What can we say about the value of the P-value?
 A) P-value < 0.01     

B) 0.01 < P-value < 0.05
 C) 0.05 < P-value < 0.10      
D) P-value > 0.10
10. The primary difference between the times when a Z-test is appropriate and when a t-test is appropriate in testing Ho: m​1 = m2 vs Ha: m1 
[image: image11.wmf] m2 is based on whether
A) we sample from normal populations  
B) the sample sizes are equal

C) we assume the variances are known  
D) the variances are equal
Answer Key - Untitled Exam-12
 1. A
 2. C
 3. A
 4. C
 5. B
 6. D
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